

Model Answer to Exercise 2



1.	Explain how the human relations movement arose:



	It arose as a reaction to the Taylorist approach (1930).  It was an ethical reaction to the number of abuses committed in the use of labour.





2.	How is the movement characterized?



	The movement holds that companies are not only technical units but also human ones plagued with individual affective relationships.  Alongside a company's planned formal structure for meeting production requirements, there lies another parallel reality consisting of complex sentiments with a logic of their own overlying the requirements of mere production.  It is an informal structure which is not reflected in the company's organization chart.







3.	What are the limitations of the human relations movement?



(a)	training programmes in human relations (particularly for management) fail unless there is a CHANGE within the company;



(b)	another limitation is to regard the individual as someone who responds in a stereotyped manner to stimuli.  The individual is not seen as having autonomous ability;



(c)	the paternalist nature of the human relations doctrine does not solve the problem.







4.	What was the point of departure for constructing Maslow's theory of needs?



	Maslow bases his theory on instinctive and cultural needs as an essential element in the life of every individual.  His needs are borne of the desire to consume and to be able to live and enjoy certain socio-cultural experiences.







5.	What, according to Maslow, are the hierarchical needs that create motivations which cause the individual to act?



(a)	Physiological needs:  necessary for the development of everyday physical and working life under suitable conditions;



(b)	Safety:  necessary for protecting physical life and job security, etc.



(c)	Social:  needs to be accepted by society and the working community;



(d)	Personal esteem:  need for recognition, to have power over other workers and increase one's personal status;



(e)	Self-actualization (or fulfillment):  development of individual and social potential.







6.	What must be taken into account for applying Maslow's theory and satisfying social needs?



(a)	promoting a team spirit;



(b)	organizing regular meetings with subordinates;



(c)	assigning tasks having regard to interpersonal relationships.







7.	What must be taken into account for applying Maslow's theory and satisfying the need for self-esteem?



(a)	encouraging workers by recognizing their work;



(b)	proposing tasks involving personal challenge;



(c)	delegating more authority;



(d)	offering certain training courses involving greater knowledge and skill;



(e)	inviting worker participation in the preparation of projects.







8.	And for meeting needs of self-actualization?



(a)	encouraging creativity and innovation;



(b)	distributing tasks which oblige workers to use their artistic and intellectual abilities;



(c)	authorizing further training courses which enable workers to make better use of their skills and abilities.
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